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log L* g5 2 LABJIND lightness log (L*g5,JL*g5.2.0 II:*ABJND Iighlt_ne?jst " log L*g5,2LABIND lightness log (L* g5 JL* 85'2’&|E58‘]ND Iighlt.ne':t.‘jst "
—t L* L* g5 JL* 85,2 normallze 0 the L* L* g5 JL* 85.2 normajze o the
D % szgf (Wa)in (1+aY) [1a] 241007 B2 baciground lightnessL* g5 5, 82 241007 B baciground lightnessL* g5 2
g (9] L*gs,7= (/@) In [ 1 + b (Y/Yy)] [2a] L¥L* = (Wa){In(1+aY)-In(1+aYy)} [1b]
S wn a=0,3411 =88,23 t/a=258,6 b:G,lAlo 3 [3a] L¥/L* = (a) {In[1+b-(Y/Y)l - In(1+b)} [2b] 920.3
== , =0,3411 t=88,23 t/a=258,6 b=6,141  [qH] ,
8 3 3HI000 |0+, 372,70 m=0.43 e 1418 SHI000 e 5 4=2,70 my=0,43 PSS 1410
Y Des52,7508 V=18, * ‘E 1,810 Le527508 =18, ‘: 1,810
-~ k4
3.5, oo 75807 by 0L g2 0520120, M08, = 100 75907 o0l g2 L 052010, M08, = @
o= ¢ L [*gs 27508 Y,=18 ,* mmmama ¢ | L[*gs 2 7508 Y,=18 L mmmama
=D ' application " R4 ; application ' application - .* . application
3 wn : range 0,149 , range : range 0,149 y range
a o L 0,1 1 10 ,Y,=18100y » 0,1 ¢ 10 "Y,=18100y . 0,1 1 10 ,Y,=18100y L 0,1 ¢ 10 'Y,=18100y
6' - - -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y) = -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
3 5 EES550-1A EES550-2A EES551-1A EES551-2A
= (1) logAY  CIE tristimulus value difference AY log(AY/AY,)  CIE tristimulus value difference logAY  CIE tristimulus value difference AY log(AY/AY,)  CIE tristimulus value difference
== AY L*gs 0= () In (1+aY) [1c] aviay, AYnormalized toAY,, AY aviay, AYnormalized toAY,,
_Q S5 1410 a=0,3411 t=88,23 t/a=258,6 b=6,141 [4c] 24100 * g5 7~ (@) In (1 +a) [1d] 1410 24100
= o tristimulus value Y difference a=0,3411 t=88,23 t/a=258,6 b=6,141 [2q]
éh 6 dY = (A1+A,Y)/Aq, see CIE 230; Eq. (A.7a)[4c] normalized tristimulus value Y difference
o dY=(s+qY)/c, seRichter(1985) [3c] dy/dy,=(1+aY)/(1+aYy) [3d]
DL oY av=(1+amrt 0.3045¢] 10 4,917 o1t 0398 o 4,917
:(_2 dY=(1+b(Y/Y)]/t » 6 R » R
. A;=s=0,0170 A=q=0,0058 A=c=1,5, [7c] . R .
Eg 140, Y718, dY,=0,08 dY,/¥,=0,004 ,* . Yu=18 dY¥=0,08 dY,/v,=0,004 ." “140,1 Y718 0Y,=0,08 dY,/Y,=0,004 ,* . Yu=18 dY,=0,08 d¥,/Y,=0,004 ’/
SN IO R P — = = m—— SR R N U m—— = = ——
O log(dYy)=-1,09 m;=0,86 ¢ appiication logl(dY,/(dY,)}=0. m, 0'8(1" : application log(dY,)=-1,09 m,=0,86 ,"l application logiaYu)/(AY,)J=0. my 0’83" : application
(_'2 = 0,015, . : range 0,18_7, . range 0,015, » . ! range 0,18_7, . \ range
=9Q 5 0.1 (3 10 ,Y,=18100y » 0.1 T 10 "Y,=18100y 5 0.1 'S 10 ,Y,=18100y o 0.1 T 10 1Y,=18100y
S50 -2 -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y) - -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
Q_ fD EES550-3A EES550-4A EES551-3A EES551-4A
g by log AY/Y) CIE Y sensitivity log [(AY/Y) / (AYy/Y,)]  CIE Y sensitivity log AY/Y) CIE Y sensitivity log [(AY/Y) I (AYy/Y,)]  CIE Y sensitivity
=c S=(aY/Y) S/S,=(AYIAY,/Y,) hormalized to AY,/Y,, S=(aY1Y) S/S,=(AY/Y)I(AY,/Y,) hormalized to AY,/Y,,
> CIT 031 Lrgs=(a)ln(L+ay) [1e] 24100 % g5 = (a) In (L +a'Y) [11] 01 24100
=4 o) a=0,3411 t=8823  t/a=258,6 [28] a=0,3411 t=88,23  t/a=258,6 2
T:! —_ tristimulus value Y sensitivity tristimulus value Y sensitivity
== dY/Y=(1+aY)/(tY) [3e] (@AY 1 @dYy/Yy)
=> -140,1 1410 vy -140,1 1410
o: \ - . . :
g o [(1+aY}5/’§é6[(1+aYu)/Yu] [3f] 3,380
(@) Q 0,015 application o N 0,015 application & ~.
-~ m I P o range ~ 0,885 I (N range . 0,885
=M I00(AY,/Y)=-2.34 m=—018 . . 0,003 OO, )Y, 150, my=-013 7 =" _ 100(AY,/Y,)=-2,34 m,=-018  _ 0,003 GGtV N A, ¥ 150, my=-0,43 1= = = =@
E T Y,=18, dv,=0,08 dY,/Y,=0,004 5 ~ = "® Yy=18, dY,=0,08 dY,/Y,=0,004 ! ?a;‘)r%lligation V=18 dv,=0,08 dY,/v,=0,004 1 == "® Y,=18 dY,=0,08 dv,/Y,=0,004 ! ?;npligation
C'y 2 . 0,1 1 10 'Y,=18100y » 0,1 1 10 "Y,=18100y = 0,1 1 10 !v,=18100y o 0,1 1 10 'Y, =18100y
Q -2 -1 0 1 2 log(Y) - -1 0 1 2 log(Y) - -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
j— EES550-5A EES550-6A EES551-5A EES551-6A
> log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y/AY,)] CIE Y-based contrast log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y/AY,)] CIE Y-based contrast
% C,=(Y/AY) C,/C=(YIAY)/(Y, /aY,)Normalized to YJ/AY, C,=(YIAY) CIC =(YIAY)I(Y /Ay, )Normalized to Y /AY,
L*gs 7= (Ya) In (1 +aY) [1d] 24100 % g5 = (a) In (1L +a'Y) [1h] 24100
a=0,3411 t=88,23 t/a=258,6 [24] a=0,3411 t=88,23 t/a=258,6 [2h]
tristimulus value Y contrast tristimulus value Y contrast
YidY=(1+aY)/(t 3
34 1000 ( JHee el 1410 (Y/df) /‘((7UI?.Y:)a'Y SVl (L ay o 341000 1410
Y,=18, dY,=0,08 Y,/dY,=222 2512 =0y T/ Wl [l Y,=18, dY,=0,08 Y,/dY =222 251 2
| la(e=23m0ss Q" Vs o008 Y222 o | lealtryv) =234m7033 " Yelm Y008 222 oo
24100 657" | odg. PUN/INIAYIE0 M=0.13 _ "y 24100 652+ | ;. PIY/IT)EVIE0 mZ0.13 g
[ 4 - Pha ——————— [ 4 - Pha ————
: application 0,29> : application : application 0,29> : application
range [ 4 1 , range [ 4 § range
L 0,1 1 10 1Y,=18100y » 0,1 1 10 "Y,=18100y ) 0,1 1 10 1Y,=18100y L 0,1 1 10 'Y,=18100y
- -1 0 1, 2 log(Y) - -1 0 1 2 log(Y) - -1 0 1, 2 log(V) - -1 0 1 2 log(Y)
EES550-7A EES550-8A EES551-7A EES551-8A
EE550-7N EES551-7N
TUB-test chart EES5; Calculated for the LABIND colour-difference formula, see CIE 230:201
_ log [lightnesd_*, thresholdAY, sensitivityAY / Y,contrasty /AY,unnormalized and normalized]
C M Y v
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